Year1-Double Challenge.

Louise doubles her donuts. The image
shows what she had after she doubled

her donuts. @@@@
oy, | DOOD

Louise started with 4 and )
ended with 8 donuts.
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Louise started with 8 and @3
ended with 16 donuts. —
MNate
Louise started with 2 and
ended with 4 donuts.

Who do you agree with? Explain why.




Work out:

Double 3 =
Double 4 =
Double 5 =

What do you notice? What's the same?
What's different?

Now try:

Double 2 =
Double 4 =
Double 8 =

What do you notice? What's the same?
What's different?




